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BACHELOR'S DEGREE PROGRAMME 
(BDP) 

Term-End Examination 
December, 2015 

ELECTIVE COURSE : ECONOMICS 

EEC-06 : PATTERNS OF ECONOMIC 
DEVELOPMENT : A COMPARATIVE STUDY 

Time : 3 hours 	 Maximum Marks : 100 
(Weightage : 70%) 

Note : Attempt questions from each section as per 

instructions. 

SECTION A 
(Long-Answer Questions) 

Answer any two questions from this section in about 

500 words each. 	 2x20=40 

1. Discuss the various measures taken to increase 
agricultural productivity in Britain during 

18th  and 19th  century. How did the Agricultural 
Revolution contribute to the First Industrial 
Revolution ? Explain. 

2. Explain the three versions of 'Dependency 
Thesis'. What are the basic limitations of it ? 
Discuss. 
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3. Explain 'War Communism' as an economic 
system in Russia. Was it able to solve the 
economic problems of Bolsheviks in the 
20th century ? Discuss. 

4. Explain the various forms of state intervention 
during the early industrialisation in Japan. 
What were the reasons for this state initiative ? 
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SECTION B 

(Medium-Answer Questions) 

Answer any three questions from this section in about 

250 words each. 	 3x10=30 

5. What factors helped Britain to become the first 

industrial nation of the world ? Explain. 

6. What are the policy options of industrialisation 
before less developed countries according to 

Rosenstein-Rodan ? Explain. 

7. Discuss the main features of the 'New Economic 

Policy' (NEP) launched in Russia in 1921. 

8. What is the suggestion made by Nurkse for 
resource mobilisation in the poor backward 

countries ? Explain. 

9. Describe the structure of Japanese village 

system on the eve of the Meiji Restoration. 

10. Explain "Take-off Stage" in Rostow's analysis of 

stages of development. 
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SECTION C 
(Short-Answer Questions) 

Answer both questions of this section as directed. 

11. Write short notes on any three of the following 
in about 100 words each : 	 3x5=15 

(a) Marxian analysis of the stages of 
development 

(b) Rice Riots in Japan in 1918 

(c) World Depression and its impact on Japan 

(d) Working of Gold Standard 

(e) Multinational Corporations 

12. Define any five of the following : 	 5x3=15 

(a) Devaluation 

(b) Cartel 

(c) Glavki 

(d) Metropolis and Periphery 

(e) Mercantilism 

f) 	Three-field system 

(g) Dualism 

(h) Serfdom 
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